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CONCEPT-01 (BODMAS Rule)

This rule is the basic principle of solving
algebraic or numerical expressions.

— I g sirenforda o 9@ Sl Rl B A
\VVBODMA S & 9o fagia 2

Order to solve/Z¢ i & whH

B — Bracket (&= )

O > of (ahT)

D — Division ( 977)

M — Multiplication ( 70T )
A — Addition (F1g)

S — Subtraction ( 9279 )
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govt. ex: BY ADITYA RANJAN SIR

Types of Bracket & Solving order
&HIBEH & UhK Td &1 Hhid &

(i) — Vinculum/Line/Bar bracket ( 7@
HISH )

(ii) () — Small bracket ( 12T HIEH )

(iii) {} — Curly bracket ( HgT& TS )

(iv) [] — Square bracket ( ¥3T &= )



O (4s3yo-g-ay | © S+3efH+(4-2)xs+ 243

= 430N+ (4-2)x5+5

= 4+3x2-y= 1y )
. N+3X2-2}(x_1_ »: 913+ x5 +5
=~ WY46-9 ol i 2+21+9XS~:3
. R - Q+Q|+Q;1—
§0~§—'\‘ ~ 242140
S N% - g
S 138 |
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DUF or all govt. exz BY ADITYA RANJAN SIR

y Thevalueof 11 x11+11+11-11x11+11
+11x11-11-11x11 is:
11 x11+11+11~-11x11+11+11x11 -

AS 11-11x 11 =T 99 &1 87
(a) 121 (b) O
(c) 11 \(})/1

HX“‘Hl “~“x”-HH"”XH-”*HX(\

R - g
\

e
e



BY ADITYA RANJAN SIR

2. Evaluate the following S -[96 + 4 of 3 - (16 -

SS + 5)]
S - 96
(a) O

Ssr 2

4of3

(16 -1

(16 - 55 + 5)] @ W9 FAT@ iTaUl
(b) 3
(d) 4




govt. exz BY ADITYA RANJAN SIR

Simplify the given expression.

ﬁ-:qnqaéma;mmmaﬁrﬁm qxé
18 + 3mmE2 x 5 + 72 + HEAE2 x 3 -4 +

\-—-—‘

SSC CGL 14/07/2023 (Shlft-4)

20
Aay 20 (b) -
25
() (d) 25
= |S+6 | )

"



MATHSEI): pr all g¢ pXd BY ADITYA RANJAN SIR

4. Simplify

% .
\\//eopm/{.s frafafaa & u= 37| &1 Q9
2.5 x [144 + 198 x {121 x 81 + E==9Y)]

SSC CGL 17/07/2023 (Shift-01)

4a) 180 (b) 175
(c) 185 (d) 190

> Q5 1y -e\qax{l‘?li’)(grx.\. H
= &sx{qu \ngqq] o

—-—




S.

Simplify. /= &1 9= F@ & -
325 + 276 + [150 - {9 x 9 + (83 - &==15)}]

SSC CGL 20/07/2023 (Shift-03)

(a) 332 (b) 333

(c) 334 4331

) 323+216-:-Dso-{%<q+§3}]
= 3284216 = (Igp.- 10y



MATHSEI): r all g pXa | BY ADITYA RANJAN SIR

6. If(48 + 72 x 3)-[15+ 8 x (40 - 32) - 10] + 2P
= 6 + 2, then find the value of P?
gfg (48 + 72 x 3) - [15 + 8 x (40 - 32) - 10] +
2P =6 + 2, d P & WIH ATd HifAU?

SSC CPO 03/10/2023 (Shift-3)

(a) 2 (b) 4
(U8+12 . (c? , -
3 o X?)) t‘s—-SXNO"?}Z}-IO] +2P = 6=0
Ygx 1 xz



y ¢

Find the value of the given expression.




MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

8. Simplify the following expression

b b ol o
25-[16 - {14 - (18-8+3)}]
(af 16 @) 20
= (d) 20
_ QS [|6~{|q~ (18 ll)}]
:- 25~ {l6-{1y 1Y)
28- [\6-1]



Simplify:

By ADITYA RANJAN SIR

=1 &1 "= AT S

31—<4l+
3 3

|

1

S—+L———

3

SSC CPO 04/10/2023 (Shift-01

1 1

1
(b) -3

)

>

1
(d) 3




JUMF MATHSE]I: ) D PX3 ’ BY ADITYA RANJAN SIR

g.-.ﬂx_u-:-sv-—ﬂit‘ii

10. If A = 3%x4% + 34 - g- ;%and
- - U1+9
"-{-;3-”‘5{;5'( 332_ -5(2!- B = 2;+5%-55-1—0 then what is the value
- —3%'*%32. : of A - B?
R= .§.+_12_L+Ss—% qigf A = 3%x4i— + 34 - ;; :—Zam
:-~§__+)2:fx‘§|§__ﬂS %Q%l‘gs 2— s%ass_%a A A - B & WH 4T 87
) ‘%‘*%*J‘JG 23 ), (b) 1

%%L :@ 8 S ( %




CONCEPT-02

(A)
a®? + b? = (a + b)* - 2ab
a? + b? = (a - b)? + 2ab
a?-b? = (a + b)(a - Db)



MATHSEI): r all g pXd BY ADITYA RANJAN SIR

11. Simplify the following expression.

2 _
00323—' ﬁwﬁrﬁaﬁ S seh chl U ATd hiTAU|
ug
_ .10 X 9ECXIee- 735 73(5)24@@@25

199 X X186~
_ ol SSC CGL 27/07/2023 (Shift-3)
. J3y204 (b) 320

(c) 225 (d) 304

QQ_ 6’2 - (Q_b)(q + 6)



\

12. Simpify:

= &t wre shifau

Q b
(379 + 276)° + (379 - 276)

379 x379 + 276 x276

SSC CHSL 11/08/2023 (Shift-2)
\@/{ -~ (b) 655

(c) 103 (d) 1




(a+b)%4 (a-b)° = a"-tb"}?.atﬁa%b’-% =2(a%6?)

(a+b)®- (a-b)? = (Q*b+2ab)- (a%b=2ab)
- /G’/j):’-r/zab - o+ 20k

= RX2ap




govt. exz BY ADITYA RANJAN SIR

12. Simpify:
fr= &t wre whifs

Q b
(379 + 276)° + (379 - 276)

379 X379 + 276 x276

SSC CHSL 11/08/2023 (Shift-2)
\@/{ -~ (b) 655

(c) 103 (d) 1




D

Simplify the given expression.
fau 7o =S T WeATRuT Wi

Q+b?* - (a-b)?2
(326 + 222)* — (326 — 222)*

(326 x 222)
SSC CGL 18/07/2023 (Shift-01)
(a) 1 Uby4
(c) 3 (d) 2

&xg%




sovt. exa BY ADITYA RANJAN SIR

14. The value of/EFT O ATd L

O/6:325% 0.325 40.178% 0.175 05

O x0.0065x3.25 -7 x0. 175x0025

SSC CPO 24/11/2020 (thft 1)

11
() (b) 3
/
(c¢) O (d) 3
0-32¢
+0. 0-3
0.-S5a- — 5




govt. exz BY ADITYA RANJAN SIR

15. The value of
Q

bQ.

669 4.669 -9 x (0.777)7

@ +g4(o 667)(2 331)

where k ?

4.669 x 4.669 - 9 x (0.777)>

(4.669)> + (2.331)2 + 14(0.667)(2.331)

(1-k) &, i k=7

\WGG

(c) 0.467

(b) 0.647
(d) 0.768

is (1 - k),

el HIHA

SSC CPO 11/12/2019 (Shift-02)




(0.13)? + (0.21)>
(0.39)2 + 81(0.07)>

2 16. The value of
02 +b qu)] .|.Q_X(2q))(3‘l'(3)

(2.4) +3x(11.52)+9
(30)2-('(%)2 (-('2 ‘{)QT-} 2x3 2‘{) +3X(2 ‘0){3 @ 6(2.4)" + 3 x (17.28) lies between: /@l
m'éﬂ?m %?1='
— 0 +b 2 _Q + 2xcxd +d SSC CPO 12/12/2019 (Shift-01)
qa%tqr  C32xdxc? +dxC (a) 0.7and 0.8  ( otb) 0.4 and 0.5
\(}K).G and 0.7 (d) 0.5 and 0.6
— q\%E - W let (,2“)9. e
CC =
Q6T 2ty 3. g
= Jxe \)
- l&%xé 24, U 128:qu§(“3
ZQ/ 10 x 10
- 6\' N
Tog < 64



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

(B)
a® + b® = (a + b)(a®* - ab + b?

a®> - b® = (a-b)(a* + ab + b?



Co'b+ bg) = (04 b) ( a+b>-a b)

(a*b>) = (a-b) (a+b™+ab)



o) 1S AMATH SE11): or all govt. ex: By ADITYA RANJAN SIR

_ﬁ—_\-ﬁ- ab 17. Simplify the given expression.
03+b> ﬁnmmmmﬁnb
= M: { @432+ x 247 — 432 x 247
(atb)(@=apr (Q4b) 432 x432x 432 +247 x 247 x 2

SSC CGL 19/07/2023 (Shift-01)

19 (@) 5eg (b) 7oz

pry (d) 450






MATHSEI): pr all g¢ pXd BY ADITYA RANJAN SIR

(0.83° -(0.1°
Simplify: ' 8317 1 0.083+0.01 _

O— b3
THERTT RSy -@.5

03-b> 18. ?

2 — -
= (Q‘b)éQ: » 6.83) +0.083 + O N2 ©
Sy
= 043 (a) 0.98 (b) 0,27
(c) 0.93 \(9/0/.73
_ 083

0.73~



19. The v%lge of /T | ATA hiTAT|

- 2
' 13-000049)

(0.007)? + 0.013(0.013 - 0.007)

SSC CPO 13/12/2019 (Shift-02)




baid
S

ATHSE)I: or all govt. exz By ADITYA RANJAN SIR

2\ Qa ) 5 n

3
N o JN— b0 675)E79XE7S 325x325 .
Qxq+b*-9b | _67,5x67.5+32:5x 3215 - 67)5x 32.5 1
jo (0 100 (00 il I 10 10 [0 xXI0
= (04b) 2 .2 675 X675 x 675 +325x325x325
I ECE—— 67.5x67.5+32.5x32.5-67.5x32.5
100 frfafeaa o 9 feras swmEr &
) (a) 100 (b) 10,000
= 100(a+b) (c) 1,000 \(4}-1,00,000
= 100X 1000




yovt. exz By ADITYA RANJAN SIR

/\
675 X675 X675 +325x 325 X325

20. 67 5x67.5132.5x32.5-67.5x32.5 s equal

to:
675 X675 X675 +325x325 x 325
67.5x67.5+32.5x32.5-67.5x32.5

freafafeaa o 9 feas ameET

(a) 100 (b) 10,000

(c) 1,000 \_kT 1,00,000
(q + ‘)3‘]2( |Q0

Q%4

(Qﬂ)) 2
e T



: ATHSE)I: or all govt. exz By ADITYA RANJAN SIR

[ a®+b> JX100 _ gxio% (251)° + (249)°
2 L0 21. The value of
Q-Qab+b 25.1x25.1-624.99 + 24.9 x 24.9

is 5 x 10%, where the value of k is

3 (a+b) (QQ-}EQ Es X100 = Sx|plc 00 X @

@l A1 5 x 10k,

W 25/1 x 25(} < 624. 994i 24.9 x 24.9,
T ETk®THE__ F
2 S0000:= Sx|p* Jai 4 (b) 5
3 c) 3 d) 6
A Syioi=sxip “ .

&



MATHSEI: r all g pXa BY ADITYA RANJAN SIR

(C)
Ifa+b+c=0
then — a® + b® + ¢® = 3abc

(@)3-1- (3)3+ (- S)'3 = 3xQ)B)-s)



i

MATHSRE)I):

v
sxoB1x ¥y x013

(0273 (04)%+ (-2x039)°

p3T¥ oM (XoMe

axpxﬂ,onfx(-yl%f
R

22. What is the value of /@ UF FTd &Ifa0|

0.74 x1.23 x0.13
(0.37)° + (0.41)° - 8(0.39)°

SSCCPO 11/12/2019 (Shift-01)
=1
sy (b) 1

() -1 @ 5

3
(Q) = 8 (‘2)3: -8

(3F: o (-




BY ADITYA RANJAN SIR

22. What is the value of/@ WF FTd hiTaAU|

0.74 x1.23 x0.13
(0.37)° + (0.41)° - 8(0.39)°

SSCCPO11/12/2019 (Shift-01)

- (b) 1
1
(c) -1 @ 5
3
(§ ) = 8

(3)3: o




UMF MATHS DUEK Dr all g¢ . ¢ » BY ADITYA RANJAN SIR

02+b+C - Babe 23. Simplify/a7e &3:

————————————————— O & C
0746 4¢ 5.321)° +@.681)° + (248

(3.321)" + (2.681)" + (1.245)

. QQM- ac)
- (a4b+0) ( —3x3.321x2.681x1.245

M ~(3.321x2.681) - (2.681 x1.245) — (1.245 x 3.321)
N —— -
- M.au SSC CHSL 04/08/2023 Shift-01
(a) 6.125 (b) 8.645
(o) 7.247 (d) 10.245
VA
Q 4b3+ 3
C-Babc~ (04h+() Q22 2
332 | C3 ( (\ [Q +b~\-c -Qb-bC‘QG
158!
.



24.

govt. exz BY ADITYA RANJAN SIR

Simplify the given expression.

RabC
X 80 x 80) + &E 70 x 70) + .< 50 x 50) -~ 840000,

6400 + 4900 + 2500 - 5600 - 3500 - 4000

SSC CHSL 10/08/2023 (Shift-01)

(a) 100 2] 200
(c) 400 (d) 300




Temeng_
LU 1vo  11:30- advane (Simplificatien)
6130 - avithmuri¢ ( 7.)
C hampin Doubt C{Yo%_)_
8506003399




I

(

el

sovt. exa BY ADITYA RANJAN SIR

25. Simplify the following.
ﬁrtafﬂﬁaa T TICATRIOT it

m001xo 01 + 0.003 x(0.003)x 0.003
0.05 x 0.05— 0.015 x 0.05 + 0.015 x 0.015
25 (0-01X0.01- 0-003X0.0| 4+ 0-003X0-003)

SSC CGL 24/07/2023 (Shift-3)
13

13
— x10° —x107°
@) e (b) T




B, Type Quutuons

9100“’ i
L 0F 8. %=01
T3 -__é&_gs<’x:. 0-71771711- . - c0o —D
0-73 210X = T7799. _ _ oo
0.93C =) e
0 “ ) ETHOIITL L L o
QSS i 0)(:"1_|_x
§ =) :rﬁCKi
18 K Qij 0\
S) 'X::L ‘is %

¢




239

qqq



CONCEPT-03 (Bar Type Questions)




BY ADITYA RANJAN SIR

27. Convert 0.535353............ oo into fraction

9HAd 0.535353

53
N g9

(©) 1o




Type2:

. e 3 0-24*
Tvicle: 23S - LR S-1L (==
e qu 24 Q990 QOO QQO

- 233 - 23—] £ ‘ -
233 =l =10 =
490 Qo q\og %‘4%




W) 1N AMAT HSE)I): or all govt. exz By ADITYA RANJAN SIR

28. Convert it into vulgar fraction

0.587
584-5 CISF HCM 30/10/2023 Shift-01
990 oa .
= 587 gy @) Je67 \%
QQ0 4les
95 91

©) Je7 165



Basic

g
Q

= 0.0123

% = 0-6}232’32323.

: s g B0
100% = |-2/-?}?'323- --0 0
= 1+0.93
10000% Sé%fgggg_ o0 @)
quOX: 122®
) X = l?{ .




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

29. Correct expression of 0.0654. (the bar

0.065Y
indicates repeating decimal)
- 6S4-6 0.0654 1 WEl =W ¢ (FN IVTHEE &l GAIgrad
4900 & 9T ¥ ):
= S4g 37 18 NTPC CBT-2 19/01/2017 (Shift-1)
‘qq'U'O—qLI-OO oNg g
65 654
() 1000 (®) To000

18 18

) 275 (d) 277



Twidc: 1234 -12

990



©. 6-323
© e 6323 - 63

QQo0
fy  T7352-73
Q90

990




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

30. Correct expression of 1,427 . (the bar indicates
repeating decimal)

'q%;i;“ 1.427 1 WEl TGS & (AT I9THGE i G

l 1SY
'gjqr{ 1O NTPC CBT-2 17/01/2017 (Shift-3)
1427 57
(@) 000 \‘9’/;%

1427 157
(€)' 10000 @) 111

111



W) A AMATHS . v
31. 2.8768="7?

— 98168-28

Q990 (a) 2878
- 9S8
} _a—;qaq:% 333 e
- 290 292

0 <12

333 et 2333

BY ADITYA RANJAN SIR

2
10

5 4394
4995



or all g¢ PX3 » BY ADITYA RANJAN SIR

32. Find the Value of x/x T HIF FTd ahifed

0.3+0.4+0.5+0.6 =x

(a) 3 (b) 5
Jef 2 (d) 8
%-+% +g_+%
Q




‘COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

33. The value of 0.56 + 0.43 + 0.89 is

0.56 + 0.43 +0.80 & WH &
NTPC CBT-1, 23/02/2021 (Shift-01)




: or all g¢ PX3 BY ADITYA RANJAN SIR

__34. 3.245+1.234 -2.12is equal to:

3.245+1.234 - 2.12 TTET & -
ICAR Mains, 08/07/2023 (Shift-3)

[8r2.358 <G535 (b) 2.437
(c) 2.243 quo (d) 2.536
324S-32 + |23y. 12 - @




MATHSEI: r all g pXa BY ADITYA RANJAN SIR

35. Find the value of/@hT UF ATd shifad
0.2+0.3+0.32
(a) 0.77 (b) 0.82




36. Find the value of/aT HIF FTd hifad

Emwes 39y |- Wouqz-non] 324.786 -10.193

9Q9 Qoo o

|oe|sq 3058 T 314.59345 (b) 314.59445
( g5 U2 314.59345 W 314.59445

333

= lo81sY400- 33942 g
33300




3uxQ9

3
x 99

O 1
Q0

22 771




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

309 +4ll + 9 37. IfA = 0.312, B = 0.415 and C = 0.309, then

q qa0 9oo0
e what is the value of A + B + C?
Qg 960 /00 afd A -0.312,B=0.415 4T ¢ - 0.309 &, @
= 7200+ 3069 A+B+C F WA T &7
Qq00 0 3
- 1211 b 1043
- _lo2eg 4144 ) 1100 ) 1100 G
Q900 1100
1097 141

(©) 1100 ¥ 1100



or all govt. exz | Y ADITYA RANJAN SIR

37. IfA = 0,312, B = 0.415 and C = 0,309, then
what is the value of A+ B + C?

afe A -0.312,B-0.415 9T ¢ - 0.309 &, @
A+B+C T UA Tawaar 27

1211 ., 1043
(@) 1700 (®) 1700
1097 1141




38. Find the value of/T |F FTd ahifad

22.4+11.567 - 33.59

2Y-22 + 11S61-11S -[3359-33S
e q aq0 ( qo ) SSCCGL TIER -1II1 11/09/2019

a 412 b 1
- 009 4152 - 102 (@) 0.412 (b) 0.31
A 9 9% oy 0.412 (d) 0.32

= 22220+114s2-3226 Ui2-4Y =Yyop

= Qo8
%90




38. Find the value of/@ HF FTd shifad

22.4+11.567 - 33.59

SSC CGL TIER -1II1 11/09/2019

(a) 0.412 (b) 0.31

Jde) 0.412 0.32
Nick:

Jwo pPoints:




or all govt. exz BY ADITYA RANJAN SIR

39. Find the value of/@ WIF AT whifad

0.57 - 0.432 + 0.35

SSC CGL TIER - 11 16/11/2020

(a) 0 (b) 0.498
(c) 0.498 (d) 0.494
bars &

Mo bavy 1

Qos= 0. ap¢



or all g¢ PX3 » BY ADITYA RANJAN SIR

39. Find the value of/@ WIF AT whifad

0.57-0.432 +0.35

SSC CGL TIER - 11 16/11/2020

(a) 0.494 (b) 0.498

(c)0.498 (d) 0.494

I T




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

40. Find the value of/@ |9 FTd hifad

0.47 + 0.503 -0.39x0.8

SSC CGL TIER -II 13/09/2019

(a) 0.615 (b) 0.615

(¢) 0.625 \(})/0.62_5




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

__4)< Find the value of/l I T4 it

HW  0.56-0.723 + 0.39x 0.7
SSC CGL TIER - II 12/09/2019

(a) 0.154 (b) 0.154

(¢) 0.158 (d) 0.158



JUK pr all g¢ PX 2 BY ADITYA RANJAN SIR

42. Find the value of/@T WF FTd hifad

(2.4x0.6 x3x0.16) x [0.2_7 x(0.83 = 0.16)]

SSC CGL TIER -1I 15/11/2020

\a) 0.814 (b) 0.11



ATHSKI r all g pXa BY ADITYA RANJAN SIR

43. 2.75+ 3.78

/ (a) 1.03 (b) 1.53

\\jpf 4.53 (d) 5.53
= =24071S ~3+40.1Q

ZLS’B =-4Y+40-573




9.4 +3.82
= -2+40-Yq -3+40:S2
= —54+0.99
= 599 -

5' 13 = ~240.13




: ATHSKI or all gc X3 BY ADITYA RANJAN SIR

- .- 5
ObO. ‘ b) - g 44. Ifo-al,’*o-ba:;,findthevalueofa+b.

})Qmo%x\ Q>+ b¥|o+ax| b __S?Jf? 0.ab + 0. ba—a @ a + b & WH AT Hired|
%o

(a 5 (b) 6

; M @ 7 @ s

g 0.23 =23-2 -p; | ¥3=Xio+3x)
3 I}{(Q"b) ¥ 0.5 0 %‘6 AYy= Axip
A B2 *¥x




¥ 0.ab+ 0ba =(B)
q

Q+b
Tyicle:



MATHSRE)I):

| BYADITYA RANJAN SIR

— 7
If O.xy = —

45. 11°

gfg 0.xy =

(a) 36

(c)45

s By

find x® + y2 =?

qad x* + y? =%

(b) 44
(d) 55




38" 4539

Q388 “4S393






CONCEPT-04

(COMPARISON OF FRACTION/fif &t g

'Cross Multiplication Method \

46. Which fraction among the following is the
least?

freafafaa o 9 +F-ar =1 @&y 8ET 272

SSC CGL MAINS (08/08/2022)

S

(@) 15 \Q?‘fﬁ
9 7

(c) 17 (d) 12



47.

govt. exz BY ADITYA RANJAN SIR

Find the greatest of the following fractions.

ﬁwfaﬁg%“ﬁx?zﬁﬁmagﬁﬁmmaﬁml

AEOR

CRPF HCM 23/02/2023 (Shift - 01)

13 15
(a) 21 (b) 19

4 8

- ) 17



or all govt. exz BY ADITYA RANJAN SIR

48. Which of the following is the largest fraction?
1 7 |9 wad ot fa= &F o 872

|§_o 117
o A 26
8 6
4 13
©) o () o



or all govt. exz | BYADITYA RANJAN SIR

{ LCM METHOD J

49. Find the greatest among
Frefafaa o= o 9 waw a5t fa= 3 s

, _6xY
%Y 1 53 6
a,_&_
<2y 2> g
28
1 5 2
@ (b)
3



or all govt. exz | BYADITYA RANJAN SIR

S50. Find the smallest among
fFafafea & 9 sF-a1 =1 999 3T 872




w\"‘-’

Fraction

Proper

|‘0i Q1

1012

J mpropey
B>y
W



' PROPER FRACTIONS

Numerator of the fraction is less then
denominator or we can say value of the
fraction is less than 1.

39T I A9 BT O BIET B 319ar 9=t &7 99 1 ¥
&+ Bl

1 2 4 7 12
2’3’ 5’11’23 ©

tc.



or all govt. exz BY ADITYA RANJAN SIR

To compare /AT & fo:

Step 1: Take the difference of N* and D* of each
of the fractions. /Uyda T=1 & 3197 qoT 8T &0
3T AT

Step 2: Difference must be same. If the given
difference is not same, make them same by

taking LCM of each difference. /370 @U™ AT
=fewl Ifg 376 WU TET § 97 Ueieh AT T GLA..
T 3H U & &

Step 3: Fraction with smaller N* will be least
and fraction with greater N* will be greatest./

39 UHNW WA IAa9 9T et fa= wadw ot agn
fereran 39T arer =1 qad oS0 g



BY ADITYA RANJAN SIR

Ex: Compare /AT L
e

diﬂ - Sany



r all g PX3 BY ADITYA RANJAN SIR

Ex: The greatest value among the fractions

gad 98T 3N gaw Bier U= Jma &1

2 1 5 3
7’3’6 4

2X5 Q—?]-sz G oxa (336_ lox1 g%{

Y s
v s @)%



: MATHSEI): or all gc X3 BY ADITYA RANJAN SIR

S51. What is difference between the largest and the

. 5 H , (57 (8 11
)qx'zl )qm )-mz ) ewysmallest fractions among( g ,(1 - (1 s and(__?

oS 471 Q6 .
90 231 @ > T % n M ¥ ¥ gam w@ v waw o

9’11’15 17
| 1-8 fa= = faT @ 772
‘g IS CRPF HCM 24/02/2023 (Shift - 02)
_STQQS— 29
: a9 I 255 b) 59
——
2Sg 1






W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

52. What is the difference of the largest and
smallest of the given fractions?

L s S f W W WA A i T S O e
5¥6 (2192 (2 G5 (2 S(&  a #7

35 G () 3¢ 5536
L S

117’811
SSC CHSL 13/03/2023 (Shift-01)

QI\S: _S_-_B_ 17
LK) (a) 56
- |
(c) - (d) 56



'IMPROPER FRACTIONS

\
N

Numerator is greater than denominator or value
of the fraction is greater than 1.

39T T W9 BT § 92T Bf gar 9= &1 99 1 ¥
arferer &

3 13 6 27

2’ 4’5’ 17 t©




Jovt. exz | Y ADITYA RANJAN SIR

To compare /T & feu:
Step 1: Take the differecne of N* and D* of each
of the fractions. /U™ f9=1 & 3197 99T BT & a7

ATA FHI
Step 2: Difference must be same. If the given
difference is not same, make them same by

taking LCM of each difference./3d7 HHTH &7
wTfewl afg 3fav Wu= &1 § 9 Uedeh 3fav & eLA.u.
T 3 WU HT ¢

Step 3: Fraction with smaller N* will be
greatest and fraction with greater N* will be

smallest. /39 W WA JAad 397 aret fa=1 qad
oSt a9T AfeRan 39T et fa= TeE St gr



.

) (@D

23

propeyr

<

L

@)

39

)2

i mproper

3(@

o)

)

S

3

D3



ATHSKI: pr all gc

L

© u382 3
43vq /> )

382 ~ 13y

U31q 137

BY ADITYA RANJAN SIR

Ex: Compare/d& T &il




govt. ex: BY ADITYA RANJAN SIR

Ex: Find smallest and greatest fraction
vaﬁ BT 3N vaf: agT fa= Fma T

( 4<34

Smalyt 5 35
3y

LQ"{M 5 ls




or all govt. exz | BYADITYA RANJAN SIR

Ex: Find smallest and greatest fraction

Tad BT A o @91 fa=1 Fma
15 8 11 7

163’12’ 8

S

malleyt LQYest.
| 18



(i)

govt. ex: BY ADITYA RANJAN SIR

~ BASE METHOD |

When denominator is equal.

aagrw?nt_

S
@ 14 92 NT votus

1737 1T 17
Fraction with greater numerator will be
greatest and vice-versa.

off WET B




Fractiem (OmBanSon
4 ) 12
@ Cross mull pli c oo, ﬁ_}@

LY
() Lm method. @ _,&'?3
R0X3
0

O Difrenc memog LS
S

m& ﬂ‘iﬂ&

IS S
'(_ \2‘ ‘(W ‘%6'



(v) _Base Method

m
Deno~ CoM

'

6 _ S
-

1

NT 1 valu T4




Case L :

Case: T

Core T



N NT

D DY
207 20 .
S _-£8ee- X100/
Cx- _4ooo_ <_ Usog) eeo
S X 10§/
5000 o S00 _ss.gga i
€x- 6000"“’ 6600
EX- Ygay _ssm

8364 Q123"



4332
8363

<

‘SSen
QI23

\IO_/_/

NT  vatu ™






(ii)

or all govt. exz BY ADITYA RANJAN SIR

When Numerator is equal.
W 39T SET B
9 9 9 9 DN volued T
L@ 7°10°@3ds
Fraction with smaller denominator will be
greatest and vice-versa.

B¢ BT aren f9=1 wad 991 ' 3R zWenr fauiE
TET B




or all govt. exz BY ADITYA RANJAN SIR

(iii) If we increase N and decrease D', then
resultant fraction will be greater.

Ife 9 N* &l 9@Td § T D &l 92 &, o gfomnd
far=r arferes 2rm

837 Nt
eg. (i) - <= »py ™



or all govt. exz BY ADITYA RANJAN SIR

(iii) If we increase N and decrease D', then
resultant fraction will be greater.

gfs 9 N* &1 =e1d & 3T D = uerd €, @ uftomd
= arfiren |

. 101 103 Nt ..
(1) 536 <2324 ou

-




or all govt. exz BY ADITYA RANJAN SIR

(iii) If we increase N and decrease D', then
resultant fraction will be greater.

Ifg g9 N* &l 9@ § 37 D&l UeTd &, a1 ufomd

237 231 DO¥
\)



r all g PX3 BY ADITYA RANJAN SIR

(iv) If we decrease N and increase D' then resultant
fraction will be smaller.

ufg g9 N* ol 92U 3T DT &l &@@iU af UiomH
fa= srer 21 s

e.g. (i) 1:1 N+
11713 Do Viy
N,



or all govt. exz BY ADITYA RANJAN SIR

(iv) If we decrease N and increase D' then resultant
fraction will be smaller.

gfg g0 N @l 9210 3T D* &l &@I0 af Tiomd
fa= Bren

18 g
101 _ 99 L

236 2 247
2

(i1)



or all govt. exz BY ADITYA RANJAN SIR

(iv) If we decrease N and increase D' then resultant
fraction will be smaller.

gfg g0 N @l 9210 3T D* &l &@I0 af Tiomd
fa= Brer & s

7 N
Lo 334 320 Ny @\H
{1 559 > 235 DT \vu
\_/




or all govt. exz BY ADITYA RANJAN SIR

(v) If we increase N and Df together or we
decrease N* and D* together than the resultant
fraction can be increase or decrease or will
have no change that can be determined by
using percentage change.

afZ g9 N* 3iT D* & U 919 @@ & a1 g9 N* 3
D* @l Ush |1 ¥eTd & of uitomdt fa= =g ar ue
Hohdl & 9T THH ohig Uftadas T&f grm 59 wfavma

.:iaxloo-,, ,'mmmmﬁmmWWg.

123 & 137 37 NT— 4

ooy, B W37 %267 D1 Vi
~42, Rz
13 S\
93 V67

~



ATHSKI r all g pXa BY ADITYA RANJAN SIR

(v) If we increase N* and D* together or we
decrease N* and D* together than the resultant
fraction can be increase or decrease or will
have no change that can be determined by
using percentage change.

af2 g9 N* 3 D* %1 Uk W19 &g & a1 g9 N° 301
D* @l U | ¥ed & of uftomdr fay= s ar ue
69 X100 Tl & o1 39H @hig Ultaad =&i g foq wfaveE
T V= W4 afvardt @ 3w @ et femar s &
423%70°492 ya—W

6 i
)
B \ g



or all govt. exz BY ADITYA RANJAN SIR

(v) If we increase N* and D together or we
decrease N* and D* together than the resultant
fraction can be increase or decrease or will
have no change that can be determined by
using percentage change.

gfg g9 N* 3iT D* &1 U& ©19 a@d & a1 g9 N* 3
D & Ush W1 e & o gfiondt fa= &g ar ue
Hehal & AT THH ohig Uftgas =gl srm o9 ufave
wﬁaﬁammﬁnmﬁaﬁﬁmmmm

" 2477_?’228 T TIPW V I
(1) 227N 387 Du V7

\/‘

IOZ 1\



143

(v)

govt. ex: BY ADITYA RANJAN SIR

If we increase N and D together or we
decrease N* and D* together than the resultant
fraction can be increase or decrease or will
have no change that can be determined by
using percentage change.

Igfa g9 N* 3{T D* ol Ueh |1 9Td & a1 &9 N 31
D* @i Ush WY "erd & of uftondr fa= s ar w2
Hahdl ¢ A1 3AH i3 Uiedq @i erm fa| e
uftaas &1 Suam e fuifa fear s wewar 21

jSss”"’sgl Ny vy
) 820 780 By
MNS/
4}




S3.

4 5 q |y é%

ans - 23

CONCEPT-05

(Ladder Fractions)

1+ =?




f :OﬂiUSiOT)

K= L 4
1+ ]
1+
|+2.
a b sy,
35 8 3
QDS:&

8: _J___-
I+_1
H.I—-IEL
3
+ +
2 3 S
o= §
13



Miscellaneous






o= 1F 1 _
+_A1
& ple”
3
Tricic

= 4+ 1
+4__
|+ 4
+Y4
S
Trick
+ o+
49 5 q Iy
Qng:ﬂ
3



MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

54. The value of 1+ 11
1+
A T 1
2 3 s 8 13 & 3y o 1
1+
Q'\S: &L 1+@
QU 3
21 o 17
() 75 (b)
34 8
(d) =

21



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

5S5. Find the value of x in the following equation:
frafafEa adietor § x &1 99 J7| Shifau:

= \/ “ P
1 5 6 1 19 1 .
1+ 1 +1ﬁ=§
ﬂ-j-li=2§_ 1+ 1
) 1 "2 1+
%1:%
=) \(8} 2



BY ADITYA RANJAN SIR

1
1 =g’ then what is the value of x?
R 1
B 1
14—
x
1 S Y
afe : =§,gﬁ,a‘fxamm=fam‘g?
14 1
1+ 1
1+
X
(a) 1 (b) 2
(c) 3 (d) 4






MATHSEI): r all g pXa | BY ADITYA RANJAN SIR

S7. Find the value of 1 - 11
; i

i i ) - 1 - 1
2 3 41 -2 -3 - @)
1__
0”32 1 =1 @

73 73

2 .

(@) 3 (b) —3

(e = -

3 (d) 3






1S



| Y ADITYA RANJAN SIR

11 P
1
1+
1- 1
1+@—>
<)
1 o 15
2 (b) 7
3 )
4 (d) =




1+ _A1

18






W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

59. What will the value after simplifying this
continued fraction?

T e fa=1 &1 97a &9 & =E 919 =T g?

‘+2/-+:?> +2
1247 973 My 1
2 + 11
ang = 3L Se—p
‘ 24+
4
3
(a) (b 79
9
(e) /1 (d) 33



BY ADITYA RANJAN SIR

59. What will the value after simplifying this
continued fraction?

9 e fa=1 =1 97a &9 & &@E 919 = gem?

'

2 +
3 +
2+
43 43
(@) & ®) 1o
=31 19
1 (e) T (d) 5




W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

~
60. If @+ 5 1 3, then the value of A is:
ha—t A0
1
. 1 L 135
1+.34&77 o ‘
ang:- 1 afe A+ : =3,%,a“TAa;rm={%:
10 14 1 10
1
H'l':L:i 2+ 3
0 7o
%) Q- Q7 SSC CPO 03/10/2023 (Shift-3)
3 10 10 " 2
H=2 1 (a) -~ (b) =
10 S
R S

(c) 1% \ufg



o) 1S AMATH SE11): or all govt. ex: By ADITYA RANJAN SIR

61. Simplify{15 +

6 +
X +8 +6 +1S - 1.
1-+£10 81+ (4%/‘1521 N loj
CRPF HCM 01/03/2023 (Shift - 02)

ang=1S2| 81 71
15— 15—

Yqe NPT (b) 2786

81 31
15— 15—

©) %372 ) *>374



sy ADITYA RANJAN SIR

COMPLETE \/V:¥ ¥ s Ny COURSE (For all govt. exams )
1

62. 2+ —— =?
L.' X 3 X 2)(.2 2-3_ 1
_"_.4]_(15:_(”.{6‘7/ 4_®
@
ang = |75 MICRPF HCM 28/02/2023 (Shift - 01)
6 w3 b 228
3&%’-‘:' @) &7 () =23

2~ ==
67 (d) 41



ATHSE): or all govt. exz By ADITYA RANJAN SIR

63. Find the value of the following




BY ADITYA RANJAN SIR

63. Find the value of the following

+1 -4
1—4/9@1 o/ 1
1 &

ang = 1

—_—

8

FAfafEa &1 99 A9 S|




MATHS DUEK Dr all g¢ . ¢ BY ADITYA RANJAN SIR

63. Find the value of the following
$2 43 41 g TMEAfafEad &1 719 A9 hifau)

124K B3 ae®7 4 5
i 1 = 4 - :
1+
Qng= L 3+ T
g .y |
4
1
(@) o Y g



W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

64. The value of/#T U= fehaar grm?

Ing= 620§ ICAR Mains, 10/07/2023 (Shift-2)
- ?2& 27 (a) 213.50 (b)'209.25
<L 225.15 d) 232.35
A ) 240, (d) 232.
Ry



6S.
Sy
2 ©
<
Q')S:,ﬂ
S

| Y ADITYA RANJAN SIR

3+5+53 =?
1:D
&
9 .13
(a) 13 (b) 5
11 19
(c) T} ( 5




MATHSEI): r all g pXa | BY ADITYA RANJAN SIR

1
66. 2 =?
1+
"/“’:’l %1 x.'ri 1+ 3
45+ 3/ @_"I/v.’ 1+i
2z 5
ang - Y
] 7
a3 BT
11 12

(c) 1a (d) 5



BY ADITYA RANJAN SIR

1 13
= find a-b + c=?
R
b +
(a1 (b) 2
(c) O (d) 3




67.

BY ADITYA RANJAN SIR

1

13
= finda-b + c=?
R
b +
c
\(})/1 (b) 2
(¢) O (d) 3




BY ADITYA RANJAN SIR

1 —13 finda-b + c=?
1 29
a+ 1
b+
C
\J,af)'l (b) 2
(c) O (d) 3



MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

)60 3a  68. L 1 fnda+b+c+d=?
! 1
S| ot 60
Q)l;(i-ab e 1
1
8)QC1-)C =t E
D8y (@) 11 (b) 12
% \sr13 () 14
O“Si 34141+ Q



BY ADITYA RANJAN SIR

17 gnda+b+c+d=p

60

(b) 12
(d) 14




BY ADITYA RANJAN SIR

30

——finda+b+c+d="7?
43

(b) 11
(d) None




70. If a, b, ¢, d are integers such that

Q
1S4 - +9
5O -,
b a-+ 1
ﬁﬂ_ -3)+_2_
q O q e
B_ C -L c+a
2. '@+2
d
6 = (a) 12
‘ @0 sy 14
Q= St+34y4q

thena+b+c+d=7?

(b) 13
(d) 15



BY ADITYA RANJAN SIR

- , where a, b and ¢ are

positive integers, then what is the value of
(4a + b + 3¢)?

SSCCGL TIER -1I 15/11/202C
M- 4a+b43¢ (a (b.)\:\
I 94546 (c) 6 (d)
- % 8 1+3
.S
V-2
S




j_S_ :@-l'.@i
9 i
Q9 =(1)+ _2xy
21 2 Ry
S -é-& 1
4Ty
§’X+33-z
< Y3-g

o0 1AM AT H SEs

BY ADITYA RANJAN SIR

1 29
If - =", where x, y and y are
@1 ™ |
2

@1

Z+ —

4
natural numbers, then the value

(2x + 3y - 2) is:

(a) 1
(c) O

SSC CGL TIER - 11 16/11/202C

(b) 4

4y 2



%3

CONCEPT-06

e (Continuous Fraction Series
qad fUATETS 4olt)

73. h(l_%J(l-%J(l ;J(1-_;.J .(1 glgj(1-1_(1)o"]i
5 1
== ®) 25

L3 A
\1 50 ) Too







The sum of

111 1

2612

: |

— +

2 6

n+1 n+1

@ (22 & m o &t
n n

1
c) n(n; ) 1% \(Vntl "15



2X3 3Xy

- 1
(n+)

B b Bl

h(n+t)

(n+1)

(N4

74. The sum of

' [ S |
—+—+—+

2 6 12







{ + 1
Lotaet - - 10X!}
S5 o3 3Ky
4+ 1 + {
™ - — 1S X1
‘Q/lxs Tavs T e
S SR P +_ 1
* - -_— -— -
o~ ¥ox3 | 23Xy | 3KUXS X Tixia.
+L~ —
. T T loX XX 3
& 3y 3>j<3\qus, 3XUXSK¢

O Mige






1 1 1

7S. J1x12 T12x13 " 13x14
69 70
() 390 ~M) 591
71 a 12
€) 790 (d) g1
ong= 4 [ﬁ*- last
diff
= J_ -L~_L
B Y
¥8|-|| :70

Q9 8\9;




76.

govt. ex: BY ADITYA RANJAN SIR

1 1 1 1

. & < G T +
1x4 4x7 Tx10 07 x100
33 5 34
@) 700 (®) 99
35 L
(©) 99 4 Too
3|\ 100
T 51843
)4 IOQ3 =33



DURK or all g¢ PX3 BY ADITYA RANJAN SIR
1 1 1 1
7 & + + +eeeet
3x7 Tx11 11x15 899 x 903
[ _
@) 500 ®) 200
25 5 22
Ae) 301 (d) 31
2 1 1oL



or all g¢ PX3 » BY ADITYA RANJAN SIR

TR T T T :
5 2 T ceccece " g
4x9 9x14 14x19 99 x 104
P-Gw

¥ ) 9
(@) Joa ®) J00

S 8
) 104 9 105



0. 1+ _ - - =+

M- (Basic) k|
=‘2L(( X2 _2%@) T(2% 5%‘“>4- Jé’j’m ﬁml
-12-[ X2 71[3 j{g }1{ /_/+7{n T{le]
] %(T'x"z ﬁ?uz
Tie ‘Lrlst

ohifg| 1~ Lost}






N\

govt. ex: BY ADITYA RANJAN SIR

(s wwies seass ) sl
3 2x3x4 3x4x5 98 Y99 x100
CahL Maing
4949 . 1980
(3Y" 19800 ®) 29490
0898 4 1980
(¢) o800 (d) 27290
Qns= | [_L - 1
Q | X2 Q9x00




'COMPLETE |\,/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

\8/0./ Which of the following statement is true?
an 1. 3. 7 1 5

I, —4+ =4+ —Fsisoseis —_— —

2 6 12 110 6
IX2 2x%3

1 1
+

SSC CHSL 13/03/2023 (Shift-04)

(a) Only I

(b) Both I and II
(c) Only II

(d) Neither I nor II



RSE (For all govt. ex: | Y ADITYA RANJAN SIR

e . B o K 18 o1 |
8K M=x= o3t 1314 1415 2324’ Y °
1 .1 1 N
36.37 37.38 38.39 """ T, el dha
equal to:
1 by L
@) 3 ) g
1 4 3
©) 7y (d)



MATHSE
N T

O"S"-QL- TR

BY ADITYA RANJAN SIR




1

BY ADITYA RANJAN SIR

1 1

83. + | ey +
1xXx2xXx3x4 2x3xXx4x5 6xXT7Tx8x9

83

@) 1512
83

©) 1215

84
1513

84
1413

(b)

(d)




1

84, t +
IX3IX®IXT 3IxXOIXTXO

20
(@) 1901

25
(¢} 1990

BY ADITYA RANJAN SIR

1

(b)

(d)

1
¥ 11x13x15x17
22
1989
27
1991




MATHSE)I: sy ADITYA RANJAN SIR

ans=_1 [ L ) : 2 1

THALL el ) 8s. 4x11 18 11x18x25 18x25x32 Uttt .
=1 Iﬂﬁﬂ:lg_i]
—u—q’ UxnxIuxe| 67x74x81

1 uxnqu 8 b
o V“’w'”tqen ) 25377

% s
() 253 7 b wE?E 18-8 215




ATHSKI r all g pXa BY ADITYA RANJAN SIR

st et~ | o8, (e srvaeras e
T T 8+11x18x25+18x25x32 S
_ 1 Guxgl- uxu) 1

425 425

o 263736 (b) 253737

424 425
(€) 253737 \VQ/ 283736 18-8




(!!!!!!‘ 2x3x4x5x6

18009 0009

(@) 5edo60 968970
100 4 1001

(¢} 56096 (4) 9560961



B 4. T ..+l
uxq 4xie 81X100
ong= & - T

- &s-| = % 6
00  Joo'as

87.

5 7 9 11 13
232 T 3242 T 225 T 52.62 7 62.72
15 17 19 1
+
72.82 * g292 * 92,1092 1S equalto.
kY 6
(@) To0 T 35
101
€) Joo0 (d) 1

-






88.

BY ADITYA RANJAN SIR

4 6 8 10
@x7 7x13 13x21 21x31 31x43
39 . 40
(@) 128 (b)129
- an 32
©) 130 (d) 135

12




Y1 ko ) VS T T =
(—-L—'" +10termyg s 1x3x5+1x4+3x5x7+4x7+ 5x7x9

[Y3XS 3XSX"
.l %= = . ,-HO{C!’“B) e + upto 20 terms
6—‘— T 7 %10
¥ 6179 6070
() 15275 W 14073
7191 5183
b ad €) 15174 (d) Jea23
= + Wi o -I-_L__
IX3xg 3XSX7 19%21%23 4 {_lj)a+t-4')|(_-|+_ i +§-8LX§
|
= J_{_L - L
\Y + L1 Yo+
ql \3 Q‘ngk 31773 483 3l
1\ + LX ~T0+ 483,
- l 483 5 y 14973



L+ A+ 1 g

2%6 SX8 299X302
- -1
o (£ 30
= _j_x(lSl-l)
3 \ 302
- LlXxiSo seoc
I 37 |s)
- QS
IS)

a, = : a2, = 2 R =
1 2x5” "2 5x8° %
then,a +a,+...+a +7?
S
(a) 151 (b)
1
(c) 2
qua-t(n-t)q







ATHSKI r all g pXa BY ADITYA RANJAN SIR
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CONCEPT-07

(aE Types of numbers

C

UPR B HBIY)

(a) Ifdenominator of a number same as multiplier

O03. The value of 99 g X 99 is

(a) 9798 (b) 9997
(c) 9898 (d) 9896



M- (Basi) 93. The value of 992—: x 99 is
qQQ QS x qq
9 (a) 9798 (b) 9997

i (‘“‘*%%)qu (c) 9898 (d) 9896
= 99xqq 4 95 X4’
W

98014q5
Q896

————



93. The value of 99:—: X 99 is

(a) 9798 (b) 9997
(c) 9898 (d) 9896

Tyiclc

3.& XQqq
qcnqs\]xqq

{ 1+ 984y }XQq
: (QQ+))
qQOO QSQG

~



93. The value of ,29% % S

(a) 9798 (b) 9997

(c) 9898 (d)-9896
Tvicl¢

ani: 9900-4



MATHSEI): r all g § BY ADITYA RANJAN SIR

>. 99) is equal to:
\9)/98999 (b) 99899
(c) 99989 (d) 99998
0§ = 99000 - 1



MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

994
. 999
5. 222 999 @
(a) 908999 (b) 999099
\19} 0908995 (d) 989095
ang:= 999009-5

- 998994



(b)

96.

govt. ex: | BYADITYA RANJAN SIR

If difference between numerator and
denominator is 1.

afg 3797 3fiT BT & &rer &1 3fav 1 &

L, 999791
792

8

(a) 89000 (b) 88900
(c) 95900 (d) 99000

x 99




1 121
. —+999 x99
- 792

8
(a) 89000
(c) 95900

192

(b) 88900

(999000

= L+ qqq+m>m

= _.\é-l- (Qqq+ 1- 4
19

- _L“' (looo- 1 x
)

X
A

Q9



Sl o

:-\‘.
o~

O}~

96.

1 791
8 792
(a) 89000
(c) 95900

+999

an§ = 9900

65

(b) 88900

(999000



MATHS

or all g¢ PX3 BY ADITYA RANJAN SIR

1 494
. i — + 999 X 99
97. Find the value of 5 495

(a) 90000 (b)}99000
\/P9
(c) 90900 (d) 99990

Basic

=" (‘WH& X %qqm_
’ uqs> 1 ]3(

0 J
- n
A f
I~
DO
L
L
e
£T
e
Ve

¥
-



1 494
. i —+ 999
97. Find the value of s 1222 5= X@
(a) 90000 \})/99000
(c) 90900 (d) 99990

QAng: Q900







W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

1 692

98. —+ (999 693) X 99 is equal to:
(a) 1 (B)"99000
(c) 99800 (d) 99900

ng- 9000



99, 999l 999-§+ ........... +999%

(a) 3798 (by'3998
(c) 3899 (d) 9939
- Q@ @R 24AD 3 @ 4
: Q9axy , .L+§ *3-+H.
- 3qq6 +&1
L

-3
" 3



==

1 2 3 4
. 999-+999° + 9995..+999 —
e 5 5 = 5
(a) 3798 (b} 3998
(c) 3899 (d) 9939
= Qq9xy + W52
_ g
= 39964,



'COMPLETE |\,/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

100. Find the value of

777l+ 7773+ 777§+ 777i
S S S S

1 2 3 4
TIT S+ TTT +TTT + 77T &AM A hifq)

»TPC CBT-1, 03/03/2021 (Shift-01)

\(a)A’llo (b) 3018
[c) 3000 (d) 3108

TNXY+ g 2

2

-

= 31p



CONCEPT-08

(Some Standard Formulae for Addition
WIS & o0 0 IH= 97)

Sum of first 'n' natural numbers

UIH n UTdhfder G&AT &1 AR




¥ Naturlno. ({1#2+3+_ _ _ +n)

¥ 5o°u¢m . (l°+22-&3q+- _ .+n)
F ol " (P33 | a3
¥ 0dd " (+345+. _ )
¥ even v (24us64ge_ _

Aum

P e

7 (n+))
2.

Nn(n+1)(2n+1)
6
2
n(n+1)
(2]
m2

'“(n+|)} or fiest




govt. ex: BY ADITYA RANJAN SIR

Sum of the squares of first 'n' natural numbers.

UIH n WTehideh WEATST @& G ol IR

, _n(n+1)(2n +1)
Il 6

144 DV A E o eonranes +n



govt. ex: BY ADITYA RANJAN SIR

Sum of square of n odd/even number/n Ta9q,/4a9

el o e = nn+1)n+2)
6

odd/even number /5@l n 2ifaw faww, 49 T@r 7

where n is last



govt. ex: BY ADITYA RANJAN SIR

Sum of the cubes of first 'n' natural numbers.

UIH n WIhideh Q&1 & 991 o1 AATHA

13+ 23 + 3% +.ivvveennns +nd =

rn (n + 1)}2
2




govt. ex: | BYADITYA RANJAN SIR

Sum of even integers/¥H YUTiahl hT ANTHH
2T ¥ Bisasnssren +2n=n(n + 1)



or all govt. exz BY ADITYA RANJAN SIR

101. What is sum of odd numbers from 1 to 50?
1§ 50 deh fauq "= &1 9 = 82

(a) 625 (b) 650
(c) 667 (d) 670
(1-50) %

ng: (2gy>



0. what i Sum% timt 10 odd numbers.
(143+S+74 Q411+13+41S+7+419)

ong= M2 = (10)*= 100
©. what i Sum (i first 20 odd numbers.

Qn; -~ (20)1



or all g¢ PX3 » BY ADITYA RANJAN SIR

102. What is sum of first 50 odd numbers?
gy 50 fauw @A &1 9T o=r 87

{2y 2500 (b) 2600
(c) 2700 (d) 2800
ans = (50)



Q. W+S+6% _ _ +10%

©. 142%3%. . _ +10°
(1T 10A) - (4T 3r )

509 m(na)@n)

- 501" (1%2%3%. _ _410%)—(12422+3)
S - o S A 2
= Ié)(llxg = XXM — AXyxA
. 3y N L o
Qs _ 38s. g
37,



(vl

103.

(l+2+3+ -

§$So0.q,
S
Ssq

BY ADITYA RANJAN SIR

7>+ 82 + ...+ 122 =7
B N F s g

(a) 459 (b) /559
(c) 567 \({:70

_+12%) < (2% _ +6*)

gmxzs 5
&

/G’X;)Gic \3



BY ADITYA RANJAN SIR

\94./ Find the value of 212 + 222 + 232 ........ + 302
W 212 + 222 + 232 ........ + 302 &1 UF AT shifAU|
—  (a) 6855 (b) 6585

(c) 5865 (d) 8565



© .13':231-33_ 4103 6.

4245%463+- _ _+103
5ol (MJQ _@" (.tQ?rwﬂE) (1% 317%)
2
_ @)z C&) (M)
- gs)’- - 302s- 3¢

30as



or all govt. exz By ADITYA RANJAN SIR

105. 9° + 10° +.....+ 14° + 15°
(a) 12104 (b) 12105
(13104 (d) 14104

Ong- (J'ers.ﬂals)- LH8 "% )



